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# Get smallest non-negative integer s.t L <= Ax mod P <= R
# Constraint 1: 0 < A < P and 0 <= L <= R < P
# Constraint 2: L != 0 and (L - 1) // g < R // g, where g = gcd(A, P)
def get_smallest(P, A, L, R):
if L ==
return O
if 2 * A > P:
L, R=R, L
A =P - A
L=P-1
R =P - R

t = (L + A -1) // A
if t * A <= R:
return t
y = get_smallest(A, A - P % A, L % A, R % A)
return (L + P x y + A - 1) // A
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SAT4 so] B 2 tinyec & AHEIT. Theat BH O AX) Hssitt.

pip install tinyec

FoFd B4 ZE  find_weakness.py o IAAY 200 HFYS whofste ZETF FAEC] ot A% Y o Avte

chg 3} 2t

$ python find_weakness.py

ECDSA info of Cheolsoo
hex(d)=’0xbde07e98f0437a531c014alfe6fd69c2cfb6c3657072696e7432303233383431°
hex (e)=’0x9a2e62818ad55aeb8ac319820b2d595660b9af57c0c7123bd6c6dfde2d9al1753°
hex (k) =’0x9a2e62818ad55aeb8ac319820b2d5956bde07e98f0437a531c014al1fe6fd69c2’

F S o] LS F59] AQ17] BY FE  find secret_key.py °f FFHL o] &3] F59] Hf217]
Slo] ik, A W 9 A et 2o,

$ python find_secret_key.py

hex (eH)=’"0x568b4901cc2dac4al3af161bbf6b2087’

hex (eL)=’0xc94d8b8223755fd121ec6aa0519ecee?2’

hex (alpha)=’0x37974e35a9f0ccc7a0369e55db728e9b7c4426914b226c53376£5ec40c102794’

hex (beta)=’0x497c820649462c2d3£794d6d57735c9ef44£72d2b844250f£98£640c7d0baech’

hex (dH)=’0x1d08a31305e240e0add3df2958063ad6’

hex (dL)="0x3160930d17c13af08£72038£13e02078’

Secret key d of Yeongsoo: 0x1d08a31305e240e0add3df2958063ad63160930d17c13af08£72038£13e02078
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$ python validate.py
Correct secret key: 0x1d08a31305e240e0add3df2958063ad63160930d17c13af08£72038£13e02078



